FRONT-AXLE SLIDER ADAPTABLE TO HONDA CBR60OF 2011

Puicg )

REF.9148N

MOUNTING INSTRUCTIONS

1)  Remove the original fastener from the left side of the fork.

2)  Remove the slider (7), fastener (1), and washer (2) off the set supplied.

3)  Mount the fastener (1) and the washer (2) on the left side of the wheel axle.

4)  Without removing the slider (6), place the rod (3) through the axle from the left side.
5)  Mount the slider (7), fastening the set with the washer (5) and nut (4)

Material supplied:

POSICION DENOMINACION CANTIDAD
M14x20 fastener DIN933 1

M14 DIN125 washer
Rod

M6 nut DIN985

M6 washers DIN125
Left Slider

Right Slider

~Njo|o|Mw( |-
NGNS

Rely only on high-grade motorcycle guards and protection offered on our virtual shelves.


https://www.motorcycleid.com/guards-protection.html
https://www.motorcycleid.com/puig/

	M14x20 fastener DIN933
	M14x20 fastener DIN933

